R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 608\Drawings\Current\TX-4216-19, 22.dwg, TX-4216

Endura

P R ODUT<CTS, I

8811 West Market Street
Colfax, NC 27235

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & R613 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404
(including Texas revisions) subject to the following conditions:

1.

2.

Anchors shall be as listed and spaced as shown in the details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.
When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.
Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# DESCRIPTION

1 Typical elevations, design pressures & general notes

Astragal details (Ultimate Hoppe)

Lock details (Hoppe HLS 9000)

Door panel details (Fiber Classic - flush glazed)

Door panel details (Smooth Star - flush glazed)

Horizontal cross sections

Vertical cross sections

IV | B |WIN

Frame anchoring

74.06" MAX. FRAME WIDTH

81.75" MAX. O.A. FRAME
HEIGHT (INSWING)

80.94" MAX. O.A.
FRAME HEIGHT (OUTSWING)

U
R
S [7)]
Yo - 14
Ex ] ]
S oz
0w Om [C]
o Z z
N W
b .do
:w b~ 4
55 Eg2 2
T [iN¢)
c ftn 9
> Hto 0
) (= Mard
D>, 0
n- 2 E
Z0m® o
3 SR. &
) d o
o %52 "
I Zmg O
o 9 . c
a 2506 O
) 50¢ x
A moo <
o o
m ;S @
e
c
P 2
[
3
3 =
0o
o

CERTIFICATE OF REGISTRATION # F—11852

PRESSURES & GENERAL NOTES

=
O
w0
L
a
3

<

% =

2 <

= Ly
—)

w oy,
3

E O
a

=)

a =

o)

xx

o
)
>_
Sl

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE |LFS | PART OR ASSEMBLY:

1/08/14 |ADDED ARTICULATING SILL

FIBER CLASSIC

+35.0

-35.0

+40.0

-40.0

—

NO,| DATE

2

REVISIONS

oATE: 9/06/12

SMOOTH STAR

+35.0

-35.0

+45.0

-45.0

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4216

SHEET 1 oF 8

© 2012 R.W. BUILDING CONSULTANTS ING.



*ON| SLNVLINSNOZ INIGTING "M Z 10Z O

ZS8L1L—4 # NOLVMISIOZN 40 3LVOIHILNEO SNOISIATY
SY¥33NIONI TYNOISS340¥d 40 Quvod Svxal mﬁﬂ&mm .M“&QWM%W A8 31vd [ONf«y| | - 8_
L616°659°C18 +ON SuoUd . S 7S ONUVINOIEY 030av| v1/80/1 | L |T|4|X|LE| 2 °
S6SEC 14 OOMIDA 0£Z X0 ‘O'd \Svg. "KIBN3SSY_80 18Vd [ S41| 39nidv0 Nid_TVOvallSY M3N_4av| S1/5/5 | 2 | o= L8
*ONI 'SINVLINSNOD ONIaTINg R|= g | 2_
(o)) 2|5 X
SZIPOLF 'I'd SvxaL V4NAN3 ai | G H e
‘3'd “IPIWYDSS °4 uopuk :Ag peJpdesd sjuswnoo(q 119N00¥d _DM m Z M w M
AN0] |Y_ Tl
3 g
o - & £
2T z|§
w | <C ]
WOLLOS % o|= O (%
3 q_v o0
s . <
- :Omo [=— M
Y
@ o5 i 4 —
o 1| I
_ » — &
=
i ‘
N .
N %
N o
: o 3
> =
T
o — L.
o
)
>
e 0]
H*
: <
o)
° ™ M G
= <
4 =
2 . < _AI 89T =
E < <
< Ol o Ll
3] |5 .o
’ S 52 B X
™~ 5 ™~
S = <|& = L
e} s 2 I
@) () = J L
i = = <
3 = S >
- <
iy : - " 2
z 3 5 =
> © oD
e 0]
=
—_
=
O ° ¥
=
(©)
z -
z O
=
e
£
2
. 2
N <5
<| D
° m .m
(<
S
£
= 2
. E
" g
(72} D E—
& O <
e6 | 1] m oz
A -
il I 5 g
| il =
o
i = 2 3
- Vv
m.u ~r
dOl

Z-1 'BMP'ZZ '6T-9TZH-XL\Wuaund\sBuimesa\g09 - Ia1\su] 4o 1daq sexa|\ININVINYId BInpuz\siuaID\y



‘ON] SLNVLINSNOJ 9INIaTiNng "My 2102 @

ZS8LL—d # NOLWVNISIOZN 40 3LVOI4ILNID SNOISIAIY

SYIINIONI TVNOISSIJ0¥d 4O Q¥vOS Svxal Somoqm?pmmq% vw%%%:v A8 31vd [ON| 8_

T —— : S41 TS ONUVINOILYY 434Qv[1/80/1 | L ||| 2| ©
G6SEEC "4 OSMIPA O£Z Xog °‘O'd \SNM% "ATEW3SSY d0 LdVd | S47 [ 34N1dV0 NId TvavHISY MaN aav| 6L/s/s | ¢ | ol . ) &

*ONI ‘SINVLINSNOD ONIaTINg N g |
N .. M

VaNAaN3 o |&lgle
£ZLPOL# *3'd SvxalL MIEAINIE L
‘A'd PIWYDS °4 uopukq :Ag peJodeud sjuewnosoq 110Naoyd _ml m = M m M

w900 —=——=— h

o L—Joe (] o

1.7

i

«8'8

LATCH & DEADBOLT STRIKE PLATE

]
N ~ . \w 23 L
~— = —
E Qo 8 i S
i o
&8 =5 25 = y
olY . 1 oz
== =
w_ _m \, Y, m
=T v
7 =5 900 ——}=— 20 -
7 ol =
w m :Nm..v U
T =
K
o
-
Z
o)
Q-
5
|
S w
& e =
58 5
£9 N
<C
L
©)
=
@)
e Q2
= = = o = o)
O
T
=
1IHOEH I1ANVH — LLJ
>
O
[ IHOIPH 1TTVY3IAO — zZ
O
T
—|
<
=)
Z
<C
=

€-T 'BMP'ZZ ‘6T-9TZH-XL\UBLIND\sBUIMEIA\809 - [AL\SUT 40 3daq sexa \INANVINYId eInpuI\siuaId\y



ul 2]
LN
|t — Q. Y ;
Lo EXTERIOR 402" 175 85, o
' TOP RAIL fu o8 &°
| 0w 2 mo 9
(COMP.) NN
3 - J%
== IR FERE
- T =
2 FIBERGLASS SKIN ) 3 5 2 @E
X ] n (075" MIN.) 2 . &8® 5B
= — o @ ON = oW
A: = i ; \ ox2
o Zz 0 L
& §%¢ 95
24 [a)
INTERIOR LATCH STILE g 32% &
HINGE STILE (LVL) o § 89
(WOOD) t gg
E KB
(%}
1"\ HORIZONTAL CROSS SECTION :
\4/ S
Lo
N
3
no
=
I
35.81" MAX. I? 5 |xg
PANEL WIDTH S g o
& |3 &
gl x»
26.0" MAX - ; 3
D.L.O. WIDTH 9 S|
Sl &
4 EXTERIOR INTERIOR = of =
i
Ly
5
=
9/16" GLASS S
BITE ~|3
o EXTERIOR —— 11/16'THK. GLASS 59 |,
8 = < T 42 2
o8 3B X 1 1/8" TEMPERED 25 |2
> F o < g n
52 22 4 — | s FOAMCORE —._ | B3 (@
=z Q4 ; S (POLYURETHANE - e
8% °a < e ARSPACE 1.9 PCF MIN.) 5|
& T 1/8" TEMPERED 2|8
GLASS =
ALUMINUM
INTERIOR SPACER of¥
Q'SO SEALANT S NNE
5 "\
BOTIOM RAIL T DN
b C) GLAZING DETAIL [COME] ~-[2
oatE: 9/06,/12
B SCALE:
THERMA TRU - Fiber Classic Panel T NTS
Flush glazed C JK
ibarglos] / 2\ VERTICAL CROSS SECTION A
\4/ TX—4216
SHEET _4 oF _8

RAClients\Endura PERMANENT\Texas Dept of Ins\TDI - 608\Drawings\Current\TX-4216-19, 22.dwg, 1-4

© 2012 R.W. BUILDING CONSULTANTS INC.




3.94"

EXTERIOR

~—1.68" —

7

\\

\ LATCH STILE

35.81" MAX.
PANEL WIDTH

26.0" MAX
D.L.O. WIDTH

(WOOD/LVL)

79.06" MAX. DOOR

PANEL HEIGHT
63.31" MAX
D.L.O. HEIGHT

1.18"

INTERIOR

/1 \ HORIZONTAL CROSS SECTION

THERMA TRU - Smooth Star Panel

INTERIOR

Flush glazed
(fiberglass)

9/16" GLASS
BITE

EXTERIOR 11/16" THK. GLASS

1/8" TEMPERED
| olass
~— AIRSPACE
T 1/8" TEMPERED

GLASS
ALUMINUM SPACER

Q'SO SEALANT

/1

@ GLAZING DETAIL

TOP RAIL

(COMP.) |

FIBERGLASS SKIN

(.075" MIN.) —\

@

EXTERIOR

FOAM CORE
(POLYURETHANE -

1.9 PCF MIN.)

BOTIOM RAIL

(COMP) ™t

7“2\ VERTICAL CROSS SECTION

~—1.68" ——

0.91"

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

ﬂlj

|

/

/4
/

!

ENDURA
DOOR PANEL DETAILS

PRODUCT:

BY | (SMOOTH STAR — FLUSH GLAZED)

LFS

Al

0.77"

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE [LFS | PART OR ASSEMBLY:

1/08/14 |ADDED ARTICULATING SILL

NO.| DATE

2
1

DATE: 9/06/12

SCALE:  N.T.S.

DWG. BY: JK

\&/

CHK. BY: LFS

DRAWING NO.:
TX—4216

SHEET 5 oF 8

R:AClients\Endura PERMANENT\Texas Dept of Ins\TDI - 608\Drawings\Current\TX-4216-19, 22.dwg, 1-5

REVISIONS

© zo12 R.W. BUILDING CONSULTANTS INC.




i
R
83 @ o
D =op g
hu S99 BT
o = z)
b w ge M
g 5 3
/ / LI TR
- 235 8
/) / g2 ¢
/ / & 88y §§
o o 3z o
5 gt ;s
a =0 O
2 EoR2E gk
3 v : X E
M X X P Sy
VA N — |
[ [T———— MULTI-POINT LOCKSET:
/ ; HOPPE HLS 9000 TONGUE/SHOOTBOLT
/ /
/// /// 2
/ // j(Q
< E5
& P
a |3l R
> d CORNER PADS (TYP |3 &a
L {FrPd R e
(73] o
< O
1/4" MAX. . K x
SHIM SPACE o @ (345 = c
EXT. SHEATHING 4‘ (YP) \ NN : 5
w0
EI5l%s
”","""’""",’,' LLI
2X FRAMING e |~ #10X2.5" PFH WOOD SCREW 5
(G >=0.42) \ &
<
o . |
L 2|5
AV ULTIMATE HOPPE ASTRAGAL 25 |,
p ENDURA WEATHERSTRIP 22| 2
(QEBD/PE 650) SIE| (2
KIERIR ENDURA WEATHERSTRIP £ S
5|0
(QEBD/PE 650) BABE BARE. G
/ &l <
Z|Q
X N
|
S/ EXTERIOR NN
DRYWALL - NS
" 0=
#8 X 2.5" PFH WOOD SCREW #0:1 T'FFH 35 #8X 3" PFH WS _/ =
ol
#8 X 3/4" PFH SMS 4" HINGE " =
#8X 1" PFH WS e 9,/06/12
SCALE:  N.T.S.
m DWG. BY: JK
/ 1"\ HORIZONTAL CROSS SECTION ¢ |HORIONTAL CROSS SECTION o o LFS
W Inswing shown - Outswing also approved U DRAWING NO.:
TX—4216
SHEET _6 oF 8

R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 608\Drawings\Current\TX-4216-19, 22.dwg, 1-6

© 2012 R.W. BUILDING CONSULTANTS INC.




R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 608\Drawings\Current\TX-4216-19, 22.dwg, 1-7-

EXT. SHEATHING —\ ‘

1/4" MAX.
SHIM SPACE

DOOR PANEL \

el

y '!
¥ | A

6] |4

A

C'SINK

0.15"
(TYP.)

\— HEAD

ENDURA WEATHERSTRIP

ui

2X FRAMING
< (G>=042)
: \

S / DRYWALL

L #10x2.5" PFH
/ WOOD SCREW

EXTERIOR W

INTERIOR

ENDURA WEATHERSTRIP
(QEBD/PE 650)

ENDURA THRESHOLD

(Z-SERIES OUTSWING)
ZOB4565FN (shown) \

(QEBD/PE 650)

INTERIOR

71"\ VERTICAL CROSS SECTION

w Outswing shown - inswing

also approved

DOOR PANEL
2\

EXTERIOR

(Z-SERIES INSWING ARTICULATING

EXTERIOR

DOOR PANEL \

ENDURA DOOR SWEEP

ENDURA THRESHOLD

(Z-SERIES INSWING ADJUSTABLE)

ZAI4565FN (shown)

(DBK-R) \ %\

DOOR PANEL
ENDURA DOOR SWEEP ‘\

EXTERIOR

INTERIOR

ENDURA THRESHOLD

SILL w/ PIN CAPTURE)
#ZACL4565 (shown)

(DBK-ZAC)

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
[TW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION

w Inswing configuration

//

INTERIOR

DOOR PANEL
ENDURA DOOR SWEEP \
(DBK-AC)
ENDURA THRESHOLD
/.

(Z-SERIES INSWING ARTICULATING)
ZAC4565FN (shown)

EXTERIOR // INTERIOR

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4' ELCO OR
ITW CONCRETE SCREW

/" 2"\ VERTICAL CROSS SECTION

\7/

Outswing shown

#10 X 2.5" PFH WOOD SCREW

1/4"X 2-3/4" ELCO OR
ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

w Inswing configuration

[T

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

/“ 4\ VERTICAL CROSS SECTION
W Inswing configuration

b

0N

FLp 0

J0 0 14

E;‘; )] H

S Lz

0 i [ o

e 27, 2

W G5

c y b -

c4 g5 2

85 284 2

2 FTWH =

A J2g5@ @
u:))>"’@
Zowo &
om S

) ON == o
O Xz

b o L
Z

g Emg o
- e o

e 502 4

& Doa g

: X °

i

[=

[ e;

E g

3

o

o

o

CERTIFICATE OF REGISTRATION # F—11852

%)

=

&)

3

L

n

= n

> wn

o o

= 0=

() (@]

<

O

. =

3 &

=2 =
o
@
a

%)
>_
] 3

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/08/14 |ADDED ARTICULATING SILL

NO. DATE

2
1

REVISIONS

oATE: 9/06/12

scAle:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4216

SHEET 7/ ofF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 608\Drawings\Current\TX-4216-19, 22.dwg, 1-8

- = 2X framing (by others) an
w Z e (]
2 ox ) Astragal/Shootbolt Strike T
3208 \ 2 - ¢ Plate @ Head Jamb e* B e
S 3 (TYP) g (TYP) T 27, gi
| ’fl* (mP) / 4 ¢%5 3t
! - : ‘ ' 5 £s2 2
] T I T I = (Il = £F 5%3 éé
SEE HINGE ' T ep| == >0 w
\ S | PI—K; \ Zoo [’ 0
DETAIL 1 ~EH T | AL L N & 8%; g
és. sog #10 X 2.5" PFH WS 3 %:%Zg BLO-
& T ||| . & 508 8 fu
DETAIL 1 & m§ S
: @
- 2] i
3 \ | \ : ;
. \ ——y —
| $ ! [ #8X 212 PR WS N 33
T ] 0
L7 T o1 , 1 8
" 4(. = o~ <
SEE HINGE ”I #8 X 1" PFH WS L .;/> #8 X 3/4" PFH WS
DETAIL 2 i3 I H N 1 4" X 4" HINGE
\ 2
<o oc
N - ”I iz = 2
] DETAIL2, 30R 4 = o HINGE DETAIL 1 3 55 9
T  J z |3:
= bl =
\ B Qg
| #8X21/2'PFHWS |5 x
#10 X 2.5" PFH WOOD SCREW o =
n ® | | @ (@) o
4 (Y7 2" (TYP.) 1/4" X 2-3/4" ELCO OR ) 4,. | = <
HINGE JAMB TW CONCRETE SCREW #8X1"PFHWS <ge _ [1 =~ #8 X 3/4" PFH WS e
(TYP @ SILL) A HINGE L%
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME ANCHORING \ Ly
CONCRETE (MIN. 3000 PSl) XX \\ &
WOOD (G >=0.42) =
HINGE DETAIL 2 3|,
2@ |,
- (ZD =z
SlE| |12
5 2
=
213 B
E <
=18
CONCRETE ANCHOR NOTES: B
1. Concrete anchor locations at the corners may be adjusted fo maintain the min. ASTRAGAL PIN CAPTURE #10 X 2.5" PFH WOOD SCREW < :
edge distance to mortar joints. COMPONENT (UNDER CAP) 1/4" X 2-3/4" ELCO OR ot o
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to [TW CONCRETE SCREW & ol
maintain the min. edge distance to mortar joints, additional concrete anchors ) 1/2" DIA. HOLE (IN CAP) SN
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 1/2 Dbt\- HOLE S
. -
3. Cohc?r?fg gncﬁqf f?ble. i 5 - 5 = —— z
AN MIN. ;'-CLEARANCE MIN. CLEARANCE R \}) = = = _ ASTcRﬁgﬁéEPIN oaTE: 9,/06,/12
5 S = SCAE:  N.T.S.
COMPONENT pr—— UK
" " CHK. BY: LFS
TAPCON® | 1/4 1-3/4 DETAIL 2 DETAIL 2 DETAIL 3 DETAIL 4 RN T
ELCO “ Outswing Inswing Inswing Inswing o
® ‘]/ n 1-3/4" 1" 3 TX 4216
ULTRACON SHEET _8 oF _8

© zo12 R.W. BUILDING CONSULTANTS INC.




